
 
 

Tesco Arithmetic Ability Questions And Answers 
 
 
Q1. A train travelling at rate of 180 kmph crosses a pole in 50 sec. Its length is? 
 

A. 1250 m 
B. 2500 m 
C. 2700 m 
D. 2250 m 

 
 
Q2. Find average speed if a man travels at speed of 24kmph up and 36kmph down                
at an altitude of 200m? 
 

A. 28.8 mph 
B. 27.8 mph 
C. 27.5mph 
D. 30 mph 

 
 
Q3. A train which travels at a uniform speed due to some mechanical fault after               
traveling for an hour goes at 3/5th of the original speed and reaches the              
destination 2 hrs late. If the fault had occurred after traveling another 50 miles the               
train would have reached 40 min earlier. What is distance between the two             
stations? 
 

A. 300 
B. 310 
C. 320  
D. 305 

 
ANS:​​ A 
 
 
Q4. The simple interest on a certain sum of money for 3 years is 225 and the                 
compound interest on the same sum at the same rate for 2 years is 153 then the                 
principal invested is 
 

A. 1500 
B. 2250 
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C. 3000 
D. 1875 

 
ANS:​​ ​D 
 
 
Q5. Two hours after a freight train leaves Delhi a passenger train leaves the same               
station travelling in the same direction at an average speed of 16 km/hr. After              
travelling 4 hrs the passenger train overtakes the freight train. The average speed             
of the freight train was? 
 

A. 40 
B. 30 
C. 80 
D. 60 

 
ANS:​​ ​A 
 
 
Q6. A radio when sold at a certain price gives a gain of 20%. What will be the gain                   
percent, if sold for thrice the price? 
 

A. 280 
B. 270 
C. 290 
D. 260 

 
ANS:​​ ​D 
 
 
Q7. Pipe A can fill in 20 minutes and Pipe B in 30 mins and Pipe C can empty the                    
same in 40 mins. If all of them work together, find the time taken to fill the tank 

 
A. 17 1/7 mins 
B. 20 mins 
C. none 
D. 50 mins 
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ANS:​​ ​A 
 
 
Q8. After allowing a discount of 11.11%, a trader still makes a gain of 14.28 %. At                 
how many percent above the cost price does he mark his goods? 

 
A. 28.56% 
B. 35% 
C. 22.22% 
D. None of these 

 
ANS:​​ ​A 
 
 
Q9. The probability that a man will be alive for 25 years is 3/5 and the probability                 
that his wife will be alive for 25 years is 2/3. Find the probability that only the man                  
will be alive for 25 years. 

 
A. 2/5 
B. 1/5 
C. 3/5 
D. 4/5 

 
ANS:​​ ​B 
 
 
Q10. x% of y is y% of ? 
 

A. x/y 
B. 2y 
C. x 
D. cannot be determined 

 
ANS:​​ ​C 
 
 
Q11. Thirty men take 20 days to complete a job working 9 hours a day. How many                 
hour a day should 40 men work to complete the job? 
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A. 8 hrs 
B. 71/2 hrs 
C. 7 hrs 
D. 9 hrs 

 
ANS:​​ ​B 
 
 
Q12. On sports day, if 30 children were made to stand in a column, 16 columns                
could be formed. If 24 children were made to stand in a column, how many               
columns could be formed? 
 

A. 20 
B. 30 
C. 40 
D. 50 

 
ANS:​​ ​A 
 
 
Q13. In a single throw of a dice, what is the probability of getting a number                
greater than 4? 
 

A. 1/2 
B. 2/3 
C. 1/4 
D. 1/3 

 
ANS:​​ ​D 
 
 
Q14. A and B can do a piece of work in 45 days and 40 days respectively. They                  
began to do the work together but A leaves after some days and then B               
completed the remaining work n 23 days. The number of days after which A left               
the work was 
 

A. 9 
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B. 11 
C. 12 
D. 15 
E. 16 

 
ANS:​​ ​A 
 
 
Q15. If the value of x lies between 0 & 1 which of the following is the largest? 
 

A. x 
B. x2 
C. -x 
D. 1/x 

 
ANS:​​ ​D 
 
 
Q16. The average between a two digit number and the number obtained by             
interchanging the digits is 9. What is the difference between the two digits of the               
number? 
 

A. 8 
B. 2 
C. 5 
D. Cannot be determined 

 
ANS:​​ ​D 
 
 
Q17. A person has 4 coins each of different denomination. What is the number of               
different sums of money the person can form (using one or more coins at a               
time)? 
 

A. 16 
B. 15 
C. 12 
D. 11 
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ANS:​​ ​B 
 
 
Q18. A cow is tethered in the middle of a field with a 14 feet long rope. If the cow                    
grazes 100 sq. ft. per day, then approximately what time will be taken by the cow                
to graze the whole field? 
 

A. 2 days 
B. 6 days 
C. 18 days 
D. 24 days 
E. None of these 
 

ANS:​​ ​B 
 
 
Q19. 2 numbers differ by 5. If their product is 336,then the sum of the 2 numbers                 
is: 
 

A. 21 
B. 51 
C. 28 
D. 37 

 
ANS:​​ D 
 
 
Q20. A cistern will be filled in 9 hrs, but because of an outlet it is filled in 10 hrs, if the                      
cistern is filled, then how much time the outlet takes to empty the cistern? 
 
 
Q21. Marked price of a commodity is 35% above the cost price. If he gives a discount of                  
15%, how much he gains on the deal? 
 
 
Q22. ​​Average age of X number of adults in a class is 30 years. If 12 new adults with                   
average age of 32 joined with them then the average age increases by one. Find X? 
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Q23. 5 mangoes + 4 oranges = 7 mangoes + 1 orange. Find the ratio of mango to                  
orange. 
 
 
Q24. A person starts with the speed of u/1 kmph and returns with the speed of u/2                 
kmph, what is his average speed? 
 
 
Q25. Three circles with same radius r are drawn with centres as three vertices of a                
triangle. What is the sum of areas of the intersections of these circles with the triangle? 
 
 
Q26. ​​Food is sufficient for 100 men for 60 days. For how many days the food is                 
sufficient for 500 men? 
 
 
Q27.​​ (1 1/2/((3/4-2/5 )/(2/3+4/5))) * ((2 3/4/((4/3-2/5 )/(5/3+6/5))) 
 
 
Q28. ​​In a right angled triangle ABC angle B = 90, BM is the median to AC, then AB​2 +                    
BC​2​ (in terms of BM). 
 
 
Q29. A person sold an item at a profit of 12%. If he sold it at a loss of 12% then he                      
would get Rs.6/- less. What is the cost price? 
 
 
Q30. A sphere of radius 2cms is dropped into a cylinder of radius 4 cms containing                
water upto certain level. The raise in the water level is ---. 
 
 
Q31. ​​A father age is 30 years older than his son and he has thrice of his son age after 5                     
years. Find fathers age? 
 
 
Q32. ​​A man leaves office daily at 7pm. A driver with car comes from his home to pick                  
him from office and bring back home. One day he gets free at 5:30 and instead of                 
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waiting for driver he starts walking towards home. In the way he meets the car and                
returns home on car. He reaches home 20 minutes earlier than usual. In how much time                
does the man reach home usually? 
 
 
 
Logical Reasoning: 
 
Directions for Questions 33 to 36:  
Study the following information carefully and answer the questions given below: 
 
(​i) Five friends A, B, C, D and E are studying in different institutes P, Q, R, S and                   
T. Each one is wearing a different coloured shirt, viz. Red, Blue, Green, White and               
Pink. The order of persons, institutes and the colour of the shirt is not necessarily               
the same. 
 
(ii) B is studying in institute R but does not wear white or green shirt. A, who                 
wears a blue shirt, does not study in institute P or S. D wears pink shirt and                 
studies in institute Q. E neither studies in institute P nor wears a green shirt. 
 
Q33. Who wears Red shirt? 
 

A. C 
B. E 
C. B 
D. Data inadequate 
E. None of these 

 
ANS:​​ ​C 
 
 
Q34. A is studying in which of the following institutes? 
 

A. Q 
B. T 
C. Q or R 
D. R or T 
E. None of these 
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ANS:​​ ​E 
 
 
Q35. What is the colour of Es shirt? 
 

A. Blue 
B. Pink 
C. Red 
D. White 
E. Green 
 

ANS:​​ D 
 
 
Q36. Which of the following combination of person, institute and colour is            
definitely correct? 
 

A. C-S-Green 
B. C-P-Green 
C. E-S-Pink 
D. E-T-White 
E. All are correct 

 
ANS:​​ B 
 
 
Q37. If each letter in the English alphabet is assigned an even number such as A                
= 2, B = 4 and so on, then what will be the total value of the letters in the word                     
LEAD? 
 

A. 42 
B. 40 
C. 46 
D. 44 
E. None of these 

 
ANS:​​ D 
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Directions for Questions 38 to 41:  
Study the following letter-number series carefully and answer the questions given           
below: 
 
J 5 4 T P 2 3 K L Q 3 7 R D A 6 8 3 F H 7 8 
 
Q38. How many letters are there in the given sequence which are immediately             
preceded by an odd number and immediately followed by a letter? 
 

A. Four 
B. Three 
C. Two 
D. One 
E. None of these 

 
ANS:​​ B 
 
 
Q39. If the position of the first half of the sequence given above is interchanged               
with the second half of the sequence without changing the order within the             
halves, which letter/number will be fourth to the left of the fourteenth            
letter/number from the left? 
 

A. Q 
B. H 
C. R 
D. L 
E. None of these 

 
ANS:​​ ​​E 
 
 
Q40. How many odd numbers are there which are immediately followed by an             
even number and immediately preceded by a letter? 
 

A. One 
B. Two 
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C. Three 
D. Four 
E. None of these 

 
ANS:​​ B 
 
 
Q41. If the positions of all the letters in the given sequence is reversed, like H and                 
J are interchanged, F and T are interchanged and so on, but the position of               
numeral is kept undisturbed, which letter will be at the eighth position from the              
right end? 
 

A. A 
B. K 
C. P 
D. D 
E. None of these 

 
ANS:​​ ​C 
 
 
Q42. Pointing to a woman, Abhijit said, Her grand-daughter is my brothers only             
daughter. How is the woman related to Abhijit? 
 

A. Sister 
B. Grand-mother 
C. Mother-in-law 
D. Mother 
E. Sister-in-law 

 
ANS:​​ ​D  
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